
SAP ABAP table RMMW1 {Material Master Maintenance: Initial Parameters (Retail)}

RMMW1

MATNR [CHAR (18)]

MTART [CHAR (4)]

MATKL [CHAR (9)]

RMATN [CHAR (18)]

VARNR [CHAR (18)]

EKORG [CHAR (4)]

LIFNR [CHAR (10)]

LTSNR [CHAR (6)]

EKWRK [CHAR (4)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

BTWRK [CHAR (4)]

VRKME [UNIT (3)]

FIWRK [CHAR (4)]

VZWRK [CHAR (4)]

FIVKO [CHAR (4)]

FIVTW [CHAR (2)]

PLTYP [CHAR (2)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)]

VZLGORT [CHAR (4)]

FILGORT [CHAR (4)]

KUNNR [CHAR (10)]

VKWRK [CHAR (4)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 RMMW1-KUNNR = KNA1-KUNNR 
0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 RMMW1-LIFNR = LFA1-LIFNR 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 RMMW1-MATNR = MARA-MATNR 

0..N

0..N

 RMMW1-RMATN = MARA-MATNR 
0..N

0..N

 RMMW1-VARNR = MARA-MATNR 0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 RMMW1-FILGORT = T001L-LGORT 

0..N

0..N

 RMMW1-VZLGORT = T001L-LGORT 0..N

0..N T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 RMMW1-BTWRK = T001W-WERKS 

0..N

0..N
 RMMW1-EKWRK = T001W-WERKS 

0..N

0..N
 RMMW1-FIWRK = T001W-WERKS 0..N

0..N
 RMMW1-VKWRK = T001W-WERKS 

0..N

0..N  RMMW1-VZWRK = T001W-WERKS 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 RMMW1-VRKME = T006-MSEHI 

0..N

0..N

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]
 RMMW1-MATKL = T023-MATKL 0..N0..N

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 RMMW1-EKORG = T024E-EKORG 

0..N

0..N

T134

MANDT [CLNT (3)]

MTART [CHAR (4)]

 RMMW1-MTART = T134-MTART 

0..N

0..N

T189

MANDT [CLNT (3)]

PLTYP [CHAR (2)]

 RMMW1-PLTYP = T189-PLTYP 

0..N

0..N

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

 RMMW1-LGNUM = T300-LGNUM 

0..N

0..N

T301

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)]

 RMMW1-LGTYP = T301-LGTYP 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 RMMW1-FIVKO = TVKO-VKORG 

0..N

0..N

 RMMW1-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 RMMW1-FIVTW = TVTW-VTWEG 

0..N

0..N

 RMMW1-VTWEG = TVTW-VTWEG 

0..N

0..N

WYT1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

LTSNR [CHAR (6)]

 RMMW1-LTSNR = WYT1-LTSNR 

0..N

0..N


